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KCS Chemistry Activity 2
Mole-to-Mole Conversions

Instructions: Balance the following chemical equations and then determine the missing information for
each of the conditions given. The four questions related to each equation are independent of one another.
Answers for a particular numbered problem should be in the same units as the information given (i.e.
grams to grams, moles to moles, particles to particles).
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KCS Chemistry Activity 2
Stoichiometry—Gram-to-Gram Conversions

Directions: You must solve each of the following problems like we’ve been done in class. EVERY number in
your work should be followed by a unit and a formula.

1. For this reaction: Fe;04,+4 CO = 3 Fe +4 CO,
a. How many grams of iron are produced from 23.2 grams of carbon monoxide?

b. How many grams of carbon dioxide are produced to react with 0.945 grams of Fe;04?

2. For this reaction: 6 PbO + O, = 2 Pb;0,4
a. How many grams of Pb;O, are produced from 7.85 grams of lead(Il) oxide?

b. How many grams of lead(Il) oxide must react with 1.75 grams of oxygen?

3. For this reaction: 4 Al+3 0, > 2 ALLO;
a. How many grams of aluminum oxide will be formed from 17 grams of aluminum reacting?

b. How many grams of oxygen are needed to react with 12.8 grams of aluminum?

4. For this reaction: 4 NH;+50, > 4NO +6H,0
a. How many grams of oxygen are needed to react with 1.24 grams of NH;?

b. How many grams of water are produced from 7.65 grams of oxygen?
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KCS Chemistry Activity 2—-KEY
Mole-to-Mole Conversions

Instructions: Balance the following chemical equations and then determine the missing information for
each of the conditions given. The four questions related to each equation are independent of one another.
Answers for a particular numbered problem should be in the same units as the information given (i.e.
grams to grams, moles to moles, particles to particles).
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KCS Chemistry Activity 2—-KEY
Stoichiometry—Gram-to-Gram Conversions

Directions: You must solve each of the following problems using dimensional analysis. EVERY number in
your work should be followed by a unit and a formula.

1. For this reaction: Fe;04+ 4 CO = 3 Fe +4 CO,

a. How many grams of iron are produced from 23.2 grams of carbon monoxide?
2374 CoO. |M,o(60 Zmolpe 5%, 84k fe - (2Y. 76.(%,
w69 SO0 280l Co ¥ Gwol (@~ [wol e ol

b. How many grams of carbon dioxide are produced to react with 0.945 grams of Fe;0,? .

D.945 ¢ Fe0y JwwelR3Q umolto,  Y4.0095@, £0.7/84C
E * 2315515 | [wiolbesoy Twol 0y

2. Forthisreaction: 6PbO+0,- 2 Pb304

a. How many grams of Pb;0, are produced from 7.85 grams of lead(II) oxide?
7,354 b0, w0l PO 2uncl Py , 8556y His Oy (.04 PP3
223499 Gmol Ao Ineol PhRY

b. How many grams of lead(II) oxide must react w1th 1.75 grams of oxygen?

72 > " el © @%

3. Forthisreaction: 4 Al+30,-> 2AL0;

a. How many grams of alummun'l oxide will be formed from 17 grams,of aluminum reacting?
| DA\ 2w \103 ol .96l &, 05 {J_Qe\
‘7(353“ TN ALK Jwol Al junolAR, 0% 52.) 3 ?&

b. How many grams of oxygen are iemi,ve\:t& react with % ;3 grams of aluminum?
i e
12.89A1y Jf’%i%z;g Ywolf " [wal O,

4. For this reaction: 4 NH;+50,-> 4NO + 6 H,O
a. How many grams of oxygen are needed to react with 1.24 grams of NH;?

(wiol Mz RO, | 2149890, . 9 G q 0
[ 2490 « el 1703, k% "oy, " Imetor ~ )

b. How many grams of water are produced from 7.65 gr}ugs of i)xy ger}x‘;z O \A O
, 0 = )
2 6540, o Il O ,__HLO .17 lg 1Pz
1T 3 aq8g0, Smelo, " [wellko
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